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VOV s Do froatatint el Tt L . . AlIES
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» Nanie the ool on which second five }w}r”plr;'“'!:mr Mandel
AL Aatinknhis Aodel fer ”"lmd'”t’”mr M‘;Id
I

FEF Sedhoon Afswled ;
1 e sy g fee e sireet o Wﬂl Iwﬂh1 “'. iﬁ
(AL mevepin yimer (2 ETe T ]
LS T UL (™ ) -

CTIRTT— A and 1 and ravel jowards 13 umi" .-‘\ rL"HPI.‘C’II‘;’EI}'_ I
are KOk b aped 0% kil respectively, When they meel, it 1, foting ot ?l
travelied 165 Ly more than the other. What is the distance I!."A. to B 2
Sdamfrai A g oy og = wie ¥ @y wwan 13 adr A @) TE W W E | g

MO B w08 fay @ ¢ opr 2y P £, at T urar mar & B am e
termd} g o5 forft w7 o g & 1 A @ B & a8 g0 T Ffrg
‘i{{.l I'r?un kmo e ipc fD) ag (B) 1825 km
) 1925 Ky ' I%T (D) 1650 km
. [ L=
Lines COlifeelin

(AL Tsohye

1€} bsotherm

4 re re il
5 S T . 1
& places of equal atmospheric pressure are called as —

(B) Isohaline
(D) Isobar

(A)
(©) gy (B) wwaEer Yar
5 Che ® ™ %

5¢ the corregy thierna;

Frer o b g A - Em_Irn'vc from the following :
APPLE : 25, . : "

(}?) Py * I BANANA : 9

(€) 13 (B) 27

(D) 36

The simpje ;
Ple interey
Crest on the gy of money s ( : |
o/ of Principal an

5 L4 ¥/
fthal to the rife {
per nny The i
m, ¢

Pc‘rr_‘cn
it

n
, I 21 ey gy |
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. % - W 2] ‘

Aot ALgues e Anven Selovt a4 ansae tigne (o nswer fipires

o 1) fhlaa & o vt TR fera |

N ot war Wi

AT AR s
@A aaee o i e R, b oeod Al

wu B R we w frs g o B o Rl @ doft 0
=l (= )
A il I

Q

o1
t
dh (el

Lt (1] wh

CAY (1) =|
e

W Qf (D) l_ ?

1

-————

|

i

r

ladv. *vour mother's husband's only brother is my uncl

& Aman saidtoa
tady relatad to the man 7
(A} Nister (B) Mother
() Granddanghter (D) Daughter N
o= ol 3 o o R ‘Wﬂﬂﬁﬂﬁtmﬁﬁﬁﬂﬂmf ", e,
g 7 i '“'::,-
(A RS (B) w i
() R o T

¢  The sum of odd numbers from 1 to 3lis:
| & 3] a5 @ ey deael = dm b -
(A) 250 (B) 249 .
(©) 243 @) 256 [l

10 The difference benween the cost price and sales price of an article is
profit is 25%. then the sclling price is :
B =g w1 w9 T A e e @ T T 360 ¥ 1 3l W 25% %, q
(A) T 1600 wog.r (B TLA
() T 1.700 (D) T 1.800

11 Which number will replace the question mark in the following series
2= & gow e Saw ¥ wraEs e @ R S0 ?
03 8 15 24.?
(A) 36 (B) 42 -
(© 2 @) 35 [

FM2] &7 5

",
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In an election between two candidates 88", of the voters cast th
T

I8
which $% of the votes were declared invalid A candidate got |
were RO% of the otal valid votes. Tind the 1otal number of vole
clection
T QA N 9w & g gE R5% T AR | T R St W W
T m anfrmT W du ) % RO s frm, n 17442 e TR Y
W E wem p #ifm
(AY 23000 (B) 21,000
(Cr 27500 (D) 27.000

19 In the following choose the alternative which closely resembles tl
the given combination,

M‘ﬁﬁﬂfaﬁqqﬂﬁfi‘ﬁﬂiﬁﬁiﬁﬁﬁ

fersren A '
ab45CDo
(A) sPtiCDe (B) ePrzCD9
(C) gkraCcne (D) aP—=2CD®

20 International Booker Prize-2022 has been won by -
(A) Brandon Tailor (B) Geetanjali Shree
(C) Douglas Stuar (D) George Saunders
AT g7 ww-2022 fews Zra A T ?
(A) #@iET oo (B) e A
(C) =7va g (D) =rst TTz==

21  Winds circulation in an anticyclone in the Northem Hemisphere
(A) Anti-clockwise (B) Parallel to Isobar
(C) No Circulation . (D) Clockwise
T MATRH § Whidwmad d 99 w9 H e T ¥
(A) =€l & g3 & fquin (B) w9=g @l B T
(C) @ da (D) w1 %1 §F T F3

22 Which of the following district of Bihar is a biggest producer o
(A) Nalanda (B) Rohtas
(C) Bhagalpur (D) Muzzafarpur
frefafaa & § M &1 a1 fA0T Gol o 999 921 39=S € ¢
(A) ey (B) o™
(C) Wyt (D) Fowmigl @

'3 Value of /0.04 + +0.0025 is :

Ts% )
Jo.04 + Jo00zs wAR E i
(A) 0.03 (B) 0.018
(C) 0.003 (D) 03
2] & 7"
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AL Bovwanystiie Windd
(L 'tl'un“q.” Wil
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urh p
AV Yyt gy
i’y l“.ru' Ty

2 Whe oy

(A Py

N
0wy § gl

anfyy

W tiwmder Jeader of 1 """-“lr‘mnr:llil ;'h Kirnt

r bﬂ-'nnclt‘ between |
Ll

1
par s rest! nd d
jtn qury Wm
e A

'mduﬂ“

an B

(i

fl'l-l-'"'l w

favement in Bengal 7

() Karmshah

PRI T R ———

A LIl Itin

M How many

()
L]
l' Thl‘ sum "r.
al ll_\' IhLl

L& I
mm*.'u'!m

=;hos waﬂﬂmﬂ’aﬂeng

__FYPITE,
|

Countries are touching Indin's infernation

tr,ﬁxﬁmmmdmﬂhrmfﬁﬁt ?

ages of 4 children bom
(A) 8 yean ¢ O the youngest child ?

() Fna
(D) wHIE

al land borders 2

(B) 6
(D) 4

at the intervals of 4 years eqepy Is

(B) 9 years

(D) 5 years

& A 60 F # | T B gy
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0 The w '
'1."~ MES Diesparey s related 1o -
L) | ﬂll\'.lli.ﬂl'i.]l

P Adiminisgy

i1y PMollee Relirms

e forms
ity Socinl Reforms
i |

B i et 5
qTH rfnﬁtr ¥ 4 ;;..,,r:,;h;m;
tAY e T . A
‘ () Tier v v
Oy ymmbay; Wt (1) mg"hh“ : hlﬂ
1 / e :
AR Coean together T 300 per day while A and ‘@ carn together T 177 and 13 and

L eam togetlye b i
VR T 162, Then daily eaming of C X

AL Cow W Ty gifra € 300 wnd ¥ wwfs Akl C famst T 177 = ¥ am

H‘m C Ay v Hﬂﬁ-‘.qﬁ!.‘ﬂ."[ Cﬂ?ftﬁﬂimitn: € e n €= 3.
(A) T 40 (B) T 68 i i
(€) T 112 (D) T 39 TR
Al Aas heavier than B, ¢ 4 lighter than D, E is Heavier than [ but lighter than E
Wha among them s lightest 7 a0
ABRWHE C.D®omy, E.D @ Wl afwrtB @ v ¥, @ o A Tl v
mEE P a i[> o o
(A) C (B) AR
(C) D (@) BN
32 Where I5 ,th: 2024 Olympics going to be held 7
(A) Beijing (B) London
(C) Paris (D) T@n
2024 =1 aftmfs wET s v 2
(A) #isn (B)
() e (D) e

33 Find the remainder when 289 js divided by 89 7
259 1 89 & formive Y w fmwm oA om 7 N
(A) 2 (B) 87
(C) 88 (D) 1
34 In a certain code ‘RAIL' is written as *5796" and €PAPE' is written as “3748",
is ‘PAIR" written in that code ? L)
uF WH &HE ¥ CRAIL' %7 *5796° firan mman & oOSTAPE' &1 *3748' fren W
I FT ¥ 'PAIR 5% frer s ¥ 7 \O
(B) 37193

(A) 4785
(C) 8795 (D) 41{'{5\]
5§ Upto which element, the Law of Octaves was found applicable ?
(A) Calcium (B) Cobalt
(C) Potassium (D) Oxygen
frg oeg @F o<E @ Prow W gwr T ¢
(A) Hfaraw (B) @mawe "
(C) R (D) frtom |
M2] &~ ? [«
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famlly is 124 years..

24 The sum of the ages of the five membery in a e of their paren)

chilidren nre in the ratio 3:4:5, while the combined 08

(A) 12 —in (1) 13 .
©) 14 ) & [
25 Fig (a) and (b) nre related in a particular way. Establish th

tid) fro 1y crnatives.
Pre ti;mjrnir%::l fi:lf (b) ;‘}nmnﬂ_'cmnul: et waTe () A (d) A o B f

ity v oo

EEESE= 4

(n) {b) fe) CN (d)

oo
o £ o

oD
26 For what value of *P’, thiOnumber 45589P6 is divisible by 8 ?

‘P* % frm W % Pro SEANIS589P6, B @ Fomw & 7
(A) & (B) 6 -
(C) 5 D 7 b
27  Which number should cdmt next in the given series ?
& wf smer A ol demr ST o ol wmeg 7
2,4,6,10, 14, 20, 00,
(A) 16 W (B) 26
(C) 22 o) (D) 14

28 What will be the next figute to replace the question mark ?
vy fow ot w2t & firg ompfa 9 | e 7
Question Figures / 937 gfaai -

cICIEIEN

o e

Answer Figures / 3o Sigfal —

o0 =
(A) ﬁ 00 (B)

N

o X ®

e . 8 [ C¢

¢ same relat

m Al
AN
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. sl
the
e U houne the eure whad s Jiltoneml finvm B0
N Ay b gt

o o= 2 e b e
ok w [@]
A,

| QE;"\ .I (m @

AT When seen throeich o mamon. A chwck shows = -4 5, 1';}:!3 is the n--l;u;"“l IIIE:t
T £ oF o¥ W eoaw O Jﬂr:rfﬂ'l‘“l‘?*':’ T Ll
}ow ) L
nlt.}r :_-JI_: (m %1 S B
iy

Frrst Amendment Az, 1951 ¢ » N
(\) f!'h-'f Lded somie mone Acts in e Fighth Schedule
(B) Addad Ninth Schodule. e Linide L35
(L) i'qudcd mew saMiacts in the Uniot
(I Readjustad the w-ﬁ: of represcntation in the Lok Sabha
o= F‘ﬁ"ﬂ? ST OS] T

() ﬁrﬁ;ﬂ,ﬁﬁ%—uﬁ?tﬁﬁﬂﬁ’ﬁl
(B) #ﬁﬁﬂ-w—iﬂ-r—;

sma= & A
(C) FE"UE‘HI::-——W':} »
tﬂlmﬁréﬁmwajmﬁg“ﬁ'ﬂﬁﬁﬁ?mm; ¥

39  Noatural ageing of a lake by numient enrichment of its water is called as:
(A) Eutrophication (B) Decomposition
( C ) Reduction (D) Biomagnification

ﬁimmmﬁmrﬁﬁ—fﬁ—w (gis) o &) fEar & w5
(A) (B) 9wz
(D) = apads
40 Which team has won the maximum [PL utles ?
(A) Rajasthan Royals

(B) Chennai Super Kings
(C) Kolkata Knighr Riders

(D) Mumbai Indians
& & & §e8 O SEY.GE. T5eE Sl & 7

(A) Tae A fﬂlﬁﬂfﬁﬂﬁ?ﬂ
(C) rasrar wmie gEa

(D) 7% F=Eaw

Duties of the Chief Minister as a principal channel of communication betwe
Governor and the Council of Ministers are mentioned in :
(A) Anricle 165

(B) Article 166
(C) Anicle 167 (D) Anticle 164
AT Ud S5Egie; & €19 6917 & 990 5 & &9 § 67 43 & HoAl B It
(A) g7 165 7 (B) o=z 166 ®
(C) qa7 167 (D) ogeT 164 ¥ |

i1

] & 10

[ Cor
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Al When
(A} w“';.l ..IIII',F, Feantte it imented I e Commhotion of Tl 't
LU IR TT Y S TR TR UL Ey Witk 20 Agendiaen) o
T TR TR UL (Wl 5o Apendient e |

LG LIITE
Ity "oy 'f'l."l""f YA i

(AL 1hps gy -

() 1uys :: g g (1) VRS 504 e Ay
4V i A Wty ay agm LR I R S T T P
, LN LTE -J'Il ||'|”| I uln® , " v

M.J ‘I,”"”"'"'-"J'ml N Ay iy (1) Awerriy

H' | . .r".-";mm.-,,*;.,-,,, (1) Wisehwrer by

AUITLUT (r[-.hi'p,.l'mlf”,” oo |

(A 1heyiey et o (0 tedkfrer

() et ooy (1) ii’r}HM-'

i -
A4 ,-\H I'I:nl COUNlEY [0 g recopnltlon (o the povernment ol Bangladenl o

tt'} Iluhhlun (1) Ramsln

L.'niﬂf h’lnu | (1) tudin

ORI ) war yagy ey ey Rar o
(A) il (1)
() v (13 wre

. r:::‘lilrll:l:i:”k" O fram e lop In o clain o 52 students, What 18 his i
52 Pueniviet oy e 3 g ok @ 16 % v e b AR Y S @
(A) 29 (}) 34
©y 3 (D) 20

46 Regulation of' u 24 houry (diurnal) rhythm in human body is done by wh

il is weereted by whicly pland 72
{f':] Hunluluﬁ‘lnlin. hypothalumus (13) Proluctin, pincnl gland
(C)  Melntonin, pineal glind (D) Vosopressin, adrenal gl

B AT 0T ) Ao v (24 1) % Frgeer wn e e w2 T @

urav faw Wi @ wen & 7
(A) WiERfm, wighddmyg () vl fifrm e
(C) P, fafrae iy (D) et whew Ay

Conyider the Tollowing statements about Attorney General of Indin -

47
(1) T is appointed by Chiel Justice of India.
(2) e gives ndvice 1o Government of Indin on legal matters.
Which ol these stulements are correet ?
(A) Only (2) (B) Both (1) and (2)
(C) Neither (1) Nor (2) ' (D) Only (1)
i & erargard) ¥ et Prefefae FeRl o e wt -
(1) =& wrta & qeg <y zra Fgw sa |
(2) g® Wa G &) fafa e Prodl ot weme dm oy
TqOF FeEl A mA g w7
(A) Faw (2) (B) (1) afr (2) 2
(€) 7 (1) o 78 (2) (D) #=w (1) B

2] q t
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¥ cilisirs 1% cnlled
i) eviation

ity ftellection

Pl splitting o Dight o its conmponeni
(Y)Y Relimetion
il .l"lnru'hmn

vt b owrnd) aml @ v wy wee ¥

RYBRCCAE, (hy e
() ey (1) et E!E'

190" ot X is added 1o X, Apain 9% ol the result is added 1o the result,

meltiple of X in the final answer ? . "
N oy s X l}' st oI t i m ‘TFW G [ L quq H ﬂ'gT AT %, oar =

N mr o wm b7
(A) 11554 () 11.554
() 11554 (D) 11554
S0 Which of the following word has been picked by Oxford University P
Children's Word of The Year 2021 ?

(A) Vaccine (B) Anxiety
(C)  Perseverance (D) Vax oL
Prefafian f @ Req e @) aifeerd givarad 9a a0 faege 92 @i 7 A
forar man & - '
(A) Fnfa (B) TmrERl
(C) ureat=g (D) ¥ |38
51 What is the value of Iz 4 H"r. ir-X=27
r=2y 2y
Jr +?H_|- & W s A, aft X5
x—=2y 2y
(A) 10 . (B) 13
C) 1 (D) 12

52 Which of the following sector of transport of the country contributes highest
value addition ? :

(A) Road Transport (B) Air Transport

(C) Water Transport (D) Railway

Prer & @t @Y7 @ & 291 & 9@eT & gHd qegduq § gaifad Qe & € 7
(A) @5 gftaes (B) =g ui=eq
(C) wr uftae (D) & [

I Select the diflerent figure from the following -

Frer o @ o (Rr=1) engfy @ ghg -

(A) (B)
) oA
" | 12 _ [ Cor
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0 LUhivise N oy
1 I:' P that has w relationship simitar 10 e question Tgures
T ”'l" 1_\” . TUERPer FQOag-d] FOpy o Lagr f{lll & '-i.'i-'lri

bl

il an
Vi "B x,

D M

(A) (B) Z‘Z

th M n

© (23] o om i

¢ o any code IH"E-UEE-E- "‘GROUP® is written as ‘DNLSO’, then how i
writlen in Hm same code ]Enguagc 27

7‘_’& ﬁ‘_m | *'Pﬁf YT H ‘GROUP' %1 *BNLSO" forar =mar &, @ o &%
“TIGER a‘ﬂ' 'b:"EI ﬁ'TEIT T % =

.
Y

%% In a 1:4:.rtmr| code language "WATER” is writlen as *1#352" and ‘ROSE’ i
2%645". how is *“SOAR’ written in that code language ?
Feet Fif¥ea g2 v & “WATER' = *1#352" ferer e ¥ ofr ‘ROSE’ &t *
AT &, A TE Fz umr § "SOAR” &7 &9 forar s & 7

(A) 3%24 (B) 3#%4
(C) 5#2% (D) 4%#2

57 Powers. authority and responsibilities of Panchayats are provided in :
(A) Article 243 E (B) Anicle 243 F
(C) Antcle 243 G (D) Article 243 D

ergdl @ sifEr, Wi am et @ wEaE e T E
(A) df=BT 243 5§ (B) arqes 243 1 §
(C) ¥z 243 B 9 (D) sgwm 243w R

8 P Q, R and S are playing carom. P and Q arc partners. S faces 1o
[f P faces towards West, then who faces towards South ?
PQRumSEwaEa w € IPawm Q wdl € | S = I 39T & w1y

9e0 gfyew & a% &, df e @ aUs e den ¥ 7

(A) R (B) S -
©) P D) Q fg
2] ar B
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TR
. e E“I HJJI
g “f”.”.g " i1k ?
. l:-ruflh.‘l"-‘l' yobleins

&0 A studeit gt Pwlee s iy PEEE . aHd A
problems inoall Tl f”“"-".lmj 4 I:]I; wyilet fiti R 4
w4 Prad oenen wod) (1 el ]

wanoi) ared e one qener o (08 J () A fm

(A} In () I3
i oIx
o0 What was the old nmme ol Myanar ! f13) Kimn
(A} Do (1) Anpora
(U1 Mangi ’
YT 1 U I aar Wi ftran
(13) 1
(A) f »l
© (n) afrer %
61 é‘hﬂ;:mc oul the odd one,
ﬂﬂ ﬂﬂ'{ | L
(A) JG.\? () SPW
(C) ROU () Ln,
- t:;qf':*(‘nﬁﬂ' ism;:mfud s ‘LMKJNMI, lh*;:_;;"w will "EARTH"
TEACHER™ & 'LMKINMI" @ widfas ¥, o LA
(A) \!lﬂ‘m ? o
fa i ]'\L’Q ;
(C) MPKLN f,‘;i Lﬁ:ﬁﬁ
63 The rclntiumh.r' : '
; ship between 1}
mirror and its focal length .(!;:l c!;ﬂ?lc!cr (2-of the reflecting surfig
(A) ;f'q*m?a#mw]qqmw 3
& o=y " () gy
D=3 ﬂJi D=y ey
N . D =
= {T}t ?I-kﬂﬂ\vn example of 5 th d
[pcrgm! B & ——— 15 l e i - v
(C) Fm'dfng Oundarics (B) -t::_irt::nn:;(: RHIEB
h 'n n d .
— Ha‘ﬁ' (D} Cnl’]\-‘ ) a arie;
{f(":'“f ;Zmﬂ dy o SR Mg gie new ;r’f"‘ Boundai,
(B) L2 e
6
5 Three posijion : (D) oF
_ s of AT
CONtaining g o 4 dice gre shown pej e
o
B A R " VR Wil come g
Lic) s Opposile
15 o v
S+ '°'~ =04 ® Rt w2
(A) & s Qﬂ
€ +
2] GuA (B) ~
(D) o
14

-
| | | _BEITT
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Chiine the Conreny opithinn, whicli ba obitained by folding veanepurent sheet along
1hi il T

WO I W renad) she mh ey ven m sogfran e e e s b
Venmsparent Sheet [ wyrs she

aw

(A) [] (1) ﬁ;' '

ik ':

i) ) (1)

=

Average monthly income of g family of four caming members is T 2,640. One
enrning member died and therefore nverage income came down to T 2,220, Th
much income decreased 7

It AN WA w5 afvare oy o miE A T 2,640 ¥ ) FEE I e
wN yeg v ok oht gufem ofrm amm T 2,220 % w6 w7 | @ fEE w0

(A) T 3960 (B) < 3,900
(C) T 3.ED0 (Dy T 3,980

68 *Rishi Sunak’ is the new Prime Minister of -
(A) Australia (B) laly
(C) LK. (D) Canada
ity o @ aurh ¥ -
(A) wfeforar & (B) T F
(C) 9% & D) & [

69 Which number is subtracted from 77217 to make it exactly divisible by 9
o W dom 77217 @ wer W s wem qtem 9 & R & 2
(A) 6 (B) 7
(C) B (Dy 5

70 Il 'BAT = 358" and ‘SHE = 49", then ‘SOME" will be equal to -
uff ‘BAT = 58' w1 ‘SHE = 49', 7@ *SOME' FT&T ¥ —
(A) 52 (B) 64
(C) 50 (D) 56

71 Ifthe difference of 3.003 and 2.050 is added to their sum, then what will be
ofr 3.003 aar 2,050 F = ® I9% o H W, 9w W wom 7
(A) 1.5643 (B) 6.006
(C) 5.8976 (D) 2.7980

M2 & 15
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Wi i
om
LIS T | T 1
I T T T O 11 T « the tlm_-,~s|fﬂrl m
Vindd out the number which replace on &8 |
ar wgen @i Prod we fow () 219
(Cy 232 .
he jabelled price. Ifhr: ha
og discount 01 0o At what price did hs

Li )
Turun bought a T.V. with 15 . o6
4125 discount, then he would have -"";T @t { O FE 0% T G *
m#w:ﬂ?ﬂmwﬁlﬂﬂf{? ot 7
T 800 @ T wh ) o ﬁ?,ﬂfﬂ.? (8) ¢ 17.000 .

| ¢ 15000 [

(AY T 16,000 )

(C) T 18.800

Which onc of the following is mumhﬂ'”{m Glass

(&) Graphite (D) Diamond

(@) Common Salt £ 7

Prfafts § @ o afeead § ! .

@ oz (B) &4

), o)

(&Q IS 9

The least number which is divided by 4, 5, 6 and 7 leaves a remainder

divided by 9 leaves no remainder, is - I

dekwd B wear Prawt 4, 5, 6 ot 7§ PR BT 9T 3 S #fET
Fw w5 e 7 oy, ¥ -

(A) 1683 (B) 1690 :
(©) 1700 ®) 1600

T?ig sum of two numbers is 25 end their ratio is 2:3, then the numbers

2 Foanst 7 gt 25 & aar 39w o 2:3 ¥, o wend E -

(A) 5, 20 (B) 12,13

(D) 10, 15

Cy II, M4
2
Q’nrdfng to Kepler's laws of planetary motion, the time period (7) and
e circular orbit of a planet about the sun are related by :

QL
ST & we & Fromrgen, gd & wite: g s ¥ aRew B 0 0w &

(@), e v & % Py (R) & wau ¥ -
fB} TIMRJ

+ (D) TE-:RI @

16 [




. whiers
= "f:-"*;‘l' ”h., wond whoch s diflerent IllW”-l‘lrl‘il {fnpanion
\ (RIS

3y Curom Seed
v '1I"'|ll|.|.'|[ rJ ;

THpwr ) e o) geee) ab o B () arerel<)

(IR 1)1 ..
i r;qr.ﬂ (1 ararArgt
3 . TN
NS it oin the mumbwer of squares o the given fil
e ooy fire ) aof g w0PNY o
N
BY (1) Illf
() (12}

Hﬁ Rtihf" j';'f‘ JiN :H'I.‘f‘:lFl."‘ sC0re |I.f- _ﬁJ il' Ihc fjl!i! |I5 ]]””cl‘".'.'\‘. Arh:l
inveraee beoome 530 What was Rohit's score in the last maich ?
(A) 34 Runs (I3) 38 Runs
(C) 42 Runs (1) 30 Runs
Ot & Rt 15 dat ¥ oftaa @c 54 8 1 o W7 & A Twe ot
g & fta & & oo our ?

(A) 3 ) &=
(C) 42 T (D) 30w  [¥E
87 When was Mid-day Meal Scheme launched in India ?
(A) 15™ Auguse. 19935 (B) 2™ October, 1993
(C) 2nd Ocrober, 1995 (D) 15" August, 1993
wird & fes-2 g giorT & oo @t T 7
(A) 15 o, 1995 (B) 2 aragaw, 1993
(C) 2 sragar, 1995 (D) 15 apra, 1993
88  Which of the following varieties of coffee is produced most in India
(A) Arabica (B) Liberica
(C) Brazilian (D) Robusta
A7 & & 5w awar &) fow @1 Seme W F gad ofus g & 7
(A) orifasr (B) ferafeamr
(C) arfifera= (D) TEwr 6%

¥9  The first National Park established in India is -
(A) Kanla National Park (B) Jim Corbett National P:

(C) Kaziranga National Parck (D) Gir National Park
YA A e s i gary & -
(A) @1 e gam (B) fm =ide g sam
(C) @rdrm ey sorq (D) frt vdrg
FM2] 4 18
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A

24 hoys, ench of them got T

“ T vy
AL LLL T l“'l.lllll“hu.l l-’l|,"|-l“"| winang )
' pmonnt bs distrib

gty :
M peeeival byoeach boy when the sime

W |1||'| i 1 | ]
.“,I.".,,,, .;ll;.l Il:Pl Y Wit v e ot ¥
' MO wae b ) R, ) wetm o seofn 8T 020 it fe

) ”'f Hl'l1 HI:t"I il ) Iy ..1.“"1' Ilr Nt WI'F.-'I !'I' Ul H.T‘.ﬁ h | i'.FH Tﬂ“ e i'.ﬁ'[h[l’l
e T (T 11,520
iV D “” v |2.'|”“]

p el

Y :‘\mf“\ Wb (hero mn the emd of 15 < 45 * 20 * 50 % 60 < 757
I.:i kA0 e ol Y P gpm A 2 T T
:i‘r () §

_ (1M 6
::-.t;:,l nl:;-;l::IIh:ll:l:l.W:l-.,l ol wha is (6™ from left and Johnson whao is 8" fror
:n:r lilt'lt‘ I n ::.“I 1;:"' Isitions, then John becomes 33™ from left. How many stu
RN L R [ CET it | 163w w ¥ ol WP W afEd @ 8w
f., MU AN T TR g g K, A Wi w333 w@m o 8 o ) A
Pt i & 7 '
{.\] R LH

g (B) 40
() D) 38 b
=L 2=Y%3=3ung 4=7
. - =7, then §=

“r: I_ I"I :-'=-1|. .]=S lﬂﬁ'{ _I:? va’r q=??

(A 7

(©) 8 o

"adma Bhushan Awardee Prabha Atre is nssociated with which one of the follor
(A) Flate (B) Vocal Music

L ] Veen [D] Sitar

M Y e wr ol Prefirferm % § frmy ah ¥ ?

(A) =gd (B) wTwha -

) o () T

Ihe length and brendih of a rectangle are increased by 40% and 30% respe
then how much percent the aren of the rectangle so formed exceeds the area

originnl rectangle ?
Mt W arra &) e ofv wYerE wwan 402 ol 30% =W & e, @ W AT =

et o & AEwe ¥ fer i s v 7 %
(A) 81% (B) 82%
(C) 90% (D) 80% @

Who built the Moti Masjid in the Red Fort in Delhi ?
(A) Aurangzeb (B) Bahadur Shah 11

(C) Juhandarshnh (D) Shahjahan
P & v PRl Y ol wfta w1 Pt R s 2

(A) ofrtmie (B) wegryme g
(C) orgfareane (D) amesi
2] s 19 [C
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. Gﬁ Chovse the ligure which is difTerent from the rest.
' an fra g o @ o @

(A) @ (B) g ~; .
7 Le
() @ (D) ':_r__

rz

79 Who is the nuthor of the hook titled ‘Unfinished : A Memoir® ?

(A) Kutrina Kaif (B) Anushka Sharma
(€Y} Privanka Chopra Jonas (D) Decpika Padukone
IS WIS : U Ay S Rfem e § 7 % )

(A) T & (B) sy i

(C) firmm dwn e (D) Fitwr gz B

80 A 960 m long train is running at the speed 0!‘360;@11‘?&2 In what tim
n man running at 76 m/sec in the same direction 2 .

(A) 30 sec (B) 25 sec

(C) 15 sec ol (D) 40 sec

060 HzT ol Tw 37 360 fETE B TN | w4 W ¥ 1 75 w9

A3 T =R W oY v § e w0 7 -

(A) 30 ¥z (B) 25%%e

(© 15 ¥bw @) 40 BE
81  Which is the capital of Kazakhstan ? Eﬁ

(A) Yerevan (B) Bi?u

(C) Astana : (D) Aﬁﬁja

AR & ToaE = ok 7

(A) oA (B) =g

(C) o (D) ==

L

82 If + means x, x means +, + means — and — meafs+,
then what is the value of 18 x4+-7-3+62 \O
Wm it x xmAE -, od ¥ - M ¥+,

TR 4z7 36w T * vo)
(A 9 ‘ (B) 19N
(C) 18 D) 8

8}  Select different alternative from the following :
= A/ e faew @ g

(A) 705 (B) 552
(C) 732 (D) 43
FM2] &~ 17
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it
s wipPpp Py ——
rr'..'..'-h o I i - r l:,p- will edanplats fhav grpeemi f‘"‘""”' fogrii
, wiera .Tﬂ-'rﬂ # : 't R -"?.‘:.'I" - __fﬁ, l_r’f!r i
‘ -
iy
r,
| “£1 L
L

Ams=ar Vignen, e
L

(A r/{i :
= J (15 [/d_
“r | 'Z’L} , I;}/_

.
"I AT P dfﬂ.l"ﬂ'i;f e f e o
“Weessing is the: setierme that aiem o crente spiritual centr

A iaen tieon r"’f'fm ril w ik Thee miatj ’
1F5 Kien 'f}f' Ir‘

Ay PFEAGAL

iy 1iIAY (85 (lddain

fredindrgt i o Py o (1 HIEIDAY : ,
mrar y v At e "8 % ahen P w e gqrataes w2 e
Bl HTMMM {14y <z (1ldaan)

() y ‘ -

S P (1) 7r (HRIDAY) B

104 11 = J29%, then find the Vilue of Jo t N ER R

v 154 4
e~ NN T s T sy v A

(h) 20352 ey i) _
((Cy 25342 :::ij ﬁ:ﬁ; i
08 Find the odd man o,
AV GAG | ., .
1257127, 130, 135, 142, 153, 165
f.n'"'.j 142 Yy ”” 153
() 1oy (D) 130
5 Which of the following statements is NOT true in context of cotton erop |

(A} Small elaple cotton is grown highest in India.
(1) Chujarat iz one of the leading cotton producing state in India.

(C) S50-100 ¢ rainfall js ideal for colton cultivation.

(1)) It is grown in both subtropical and tropical climatic regions.
forefufras o 1 e & ey o g wm oA wh E Y ?

(A) wrrd d w2 T 7rh wum w waEteE T g ¥

(13) sred o 7prtre (7 gqa A s e Q0w

(C) mnm &1 o % fd 50-100 ad 2ot amsd ot %

(1)) efy frarare vy v oty ey wa # g ¥

1 4 21

3y 3T eaey g
Teiva—
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e WA ney o T; LI iy ANy tfrn1-\l.‘l'||"“ of w eonductor in firres [
HAr PR e ey AN
CigRrrem | “If"'lh'll the rrms-qeclinn 4 - > 4 . i
d . - o ] Jr'l"l-dr ' h. L - a
VYW aves o) iy ...r:.; arr it 0 o 4 gt 1 PE Mgy
LU I S ] r‘rll t ey | )
Ay 1i ) i |=-I'J'J||'l o

1 gy, (i 1=

" : ure.

St oty TR e ufafee qfﬁ I

£

ITTITrr

(A) E (8) 0@
() @ D) @“"

M Declared by 1INESCO, Intemational Mother Language Day is celebratec
date

(A) Fehruary 12th (B) February 10

(C) February gth (D) February 21% 3
mmﬁm*mﬂmmqﬂmﬁw‘ﬁmmﬁuaﬁmmtr
(A) 12 == (B) 10 st

(C) B wrah (D) 21 wward

}{5) Amit Sahai has received *Michael and Sheila Held Prize 2022° for his
in the field of .

(A} Fconomics (B) Computer Science

(C) International Relations (D) Tlistory '

w5 W * &7 =% 9ee & fon WEew e i e
e £ '

(A) =dames (B) @zt fasm

(C) F=rdm = (D) sfem %

101 Which of the following publishes the National Health Profile (NHP) p
(A) The Central Burcau of Health Intelligence
(13) The International Institute for Population Sciences
(C) The National Flcalth Authority
(D) The National Institute of Health and Family Welfare
Wﬁﬁ#@m%m@lﬁmmﬂm
(A) F=a mrm giva =0
(B) wdem faem & arnidg dem
(C) T ammm it

(D) T@rem vE oftar @=m & P TN o
FM2] o 20
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Ay

1] -
H“ [11‘ | {‘JI

I e g vl il n I

an —U5 (!

II"II _3‘___ -'HI :{I.I,.r| ,"1' 'l'.l"'.”‘ FRLE
{15) b ' LTI A | AP qat g

(A) A5
() 75 () s
fin 12
IIﬂ Ilh'lllﬂ|I i‘-l. ““_‘ e II 1 .
(AY Syrln Al ul
(C) Chnon (1) ‘lirkey
e i k- (1 ulunr
(A) *ifrm o
Cy almr oy () i
| () mee b Pl

1 Inowhat time will o s ul‘lmmu:,r doulle Isell ut ;,3-5;. per unnum simple Interest?
3

(A) 16 years

(1) |H years
(C) 20 yeary (D) 15 yenrs

fee w3 wg ufy n%"f- ubty =od wuren wamn o Aph Bh 7

(A) 16 Tm A

(©) 20 (1) IR Tm

(I Iﬁmﬂ?im

12 Three different positions of n dice nre shown helow, How many dots lle apposite
two dots ?

7w i ) e faf Rafival B9 g ¥ ) Spgalt ¥ feri P e B 7

.

(i) () (111)
(A) 3 ) 5
(C) 6 ()

113 Which Tiger Reserve won the TX2 nwurd In Janunry, 2022, where its tiger numl
doubled 10 80 since 2010 7

(A) Sathyamangalum Tiger Reserve () Corbelt Tiger Reserve

(C) Konha Tlger Reserve (1) Bandipur Tiger Reserve
w2022 # frw znfre ford A 1X2 g o, P 2010 % @ Wl o
BN v 80 W 7

(A) wortmem zrgme Ford (M) wriz b fond
(©) @rm e Prrd (D) wrdge e fond - (K
FM2] @ 1) 1Ce

)
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municutinn Technoli

g with B) Comim__ )
! 147 SAHAYAK-NG' is nlw"""‘ Im gpace Technology
= -i"'hﬂ”ﬂl‘ .

ll::'; :']rlrr:-l:':; .-.Lngcmcﬂ: NG) e ] l;l Tt gafrd A

vy oA A (SAHIAYAR (B) e a %

(A) v i A (D) .

r gl correct option -

{[i#n!wﬂj‘-lﬁ 4 choose he

an
(o8 Consider jhe figure giver oy
I-d['flfﬂFIE

N

Reaction (oordinale ) ‘
(A) Activation energy of forward reaction is E, +E; and product 15 less s
oy -af;hum forward and backward reaction is E; + Epan

() Activation energy
is mare stable than product- A .
{ packward reaction 15 E,

(C) Activation ¢nerey 0

reactant. >
(D) Activation enerzy of forward reaction 15 E,

reaclant. i
ﬁﬂﬂaﬁaﬁﬁmﬁﬂwﬁ: by

and product is more s

+ E, and product is More s

Fr Rg @ frF T
gefom 63
[ "
B TR
yftEnE E"'.
I
st Prdits ——

(A) s sfvfear £ wfaw &=t E, + E, & 9T fYERE

(B) &7 T 3w wAY wfufmara L L S

: ity A 3 %Y wiraw S E, + E, ¥ &t aifiares, s
gyq afifEar @t wfegw =t B, § ot gamg, sifvers

(D) mwﬂ:ﬁmaﬁnﬁmmﬁﬁ,l+ Eztst'rc’w. arﬁmﬂ:gﬁ;“gin:

2] &
22
_ [(
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123

SRR

W s Ihunde.q .
W .'hm:‘;;; ! New, (MY Matyman Candhi
WY My ftl'g I i
(1Y v wh
the o e Manees ), Ineren
e ¥ iy My il (1) hydrogen < sugar < milk

VA BN, AN ,\:v. : iy
.l“:‘ 1‘! A1 "“ \ . ." 1 I-l““““ Hl‘ll]“h- L“ ‘Iq]l |I|
[ ] "n [LE L )
VAR g e Moy My Y1, Ambedka

L e
."\“':“‘.}‘,\"' the t‘“ ) .
the partictos - Wing (1 D) &, o, sewvewr [

sing order of forces of ntiraclion between
AN aa Mhey,
WA shRar i,
(A ‘.. Rar - hy '-ll‘ugn: ‘r
L™ D ; < <

T gty VR ) diogen < milk < sugar
LAY R o .

- 3 "-'I'TI‘I:"[II amftan wL -
. ' b A '“ﬂm el

(L ’T*T‘Hmh‘-‘ru,m (M) wregihd < ey < gu

1&\-1'&1}'[\ ]'ﬂn‘lgr;“""-m ol ¢ {D] \ . Sl

- ' N TI'“,'LH N . .
tnhm:lngws tollowing 4 hiy :"'1[11¢m o Indin aims for developing and integrating
LAY Sampoarg Grimeen o e TPPronch jin identified nreas ?

() Crattsmen Training .o T8 Yojany (Y Udj
WA gy % Ftﬂ;* ““F h;.:";'%‘:q (D) Tu:ﬁbhgybwe\npmmthugmm:
T ST g o § Jhi"ﬁ LER SR R e R e e

! A
AV Tl vy e gy e
() wafiind wiimm T filfii}} mr'"ﬁ"%' 8 [
The ratio of number ol boys and gine 1 P .
mare girls should be joined 1o mﬁlfﬂ:?‘:a,fﬁg"f.' 1{!-5 K4l stydenia i 3:2. How man
(A) 164 girls :

. (B) 150 girls
(CY 170 girls (4=
. J (D) 160 girls
;E;{mm 82 ﬁﬂﬁﬂr:;rﬂﬁ ﬁm@mﬂmﬁ% M 32 % LauE il
(A) 164 weipai (B) 150 S
(C) 170 wefat (D) mdﬁt’fﬁmﬁ

o

of a long straight solenoid-carrying current -
(A) increases as we move away from its center towards its end.

(B) remains unchanged as we move along the axis of the solenoid.
(C) first increnses and then decreases as we mnvilc along the axis of the solen
(D) decreases as we move away [rom its center u{:nflards ils end.

L

T freeq gt - .y -
fot R urrerh i s s B o T gy -

Choose the correct option :
The magnetic field on the axis

A FEFR I Ainmwmat | }i‘,
(B) mﬂﬂmﬁiﬂaﬁﬂﬂﬁﬂmml
(C) witfer 1 o & orgin oot w0 owdt wgen & W Ry = &
{D}ﬂ%hﬂrt{mm#mmﬁﬂmhﬁ
FM2] & 25 [Ct
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ert staternesTil ot of o
h'f"'m g TE ok X v
. 15..-51"!5"‘2-*?,:*-‘,;
L4 01+ =x, ' e fﬂ,’ I PR
nﬁ+_!'_-?.lﬂ*:ﬁ fﬂ} 15:5-_3'42‘_5 L

A) I5+5+3-2% 0 .
:f; [§%S~3 +!5_';7':"_':j ember of BIRMSTYC
+ 0 ;;i.nrricﬁ js pot am ) Thailand
115 Which of the 1":1”*"*"*“1'45-'-._J () Maldives
{A) Myanmar ‘ : g y 7
(C) Nepal : - LU ;
b it vy 2on e B TSy b
(A) =TT (o) i G
(C) Awe -
L ee differen?
116 In below given ﬁ_l‘_:!urf-'i- .‘J."Fc:m;w 37
will nppear opposite 0 b T -HT fraaferat Pt i %, 2 T viem, e
A oy Foral 1, vt 1 AT

gl ? ,l _
& G
(A} 6 )
(C) 2 i)
i)
117 4 years ago, the average.age of A, B, C was 41? years. With D joining them
average age of all four 543 years. How old is D ?

positions of a dice are shown, wh
l"l

(B) 4
(D) 5

(A) 48 years ) (B) 46 ycars
(C) 42 years N (D) 50 years
mmwﬂA,BmCﬁmmdﬂﬁﬁmﬁmﬂDtmmmﬁ
ut T emg4Sm e, A DB W E R 7
(A) 48 7d o e (B) 46 ud
(C) 427f 5 (D) s0=d |

o o

8 Al ' E L) )
iin of of] was y full, Mcn 7 bottles of oil were taken out and 3 bottles of ¢
)

poured into it, it was —f; i
it was > full. How many bottles of ojl can the tin contains

3o 3
ﬂirqsﬁﬁr# ﬁmwtrm?ﬂaﬁﬂﬂﬁmwmwﬂ'Bmﬂnw

T s wy oy
e R Bt e e g
© 12 (B) 14

D) 18 [3§
24 [Cor
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10 Queen l'ilimh._-._h

W

31

32

W hl.] ;
5 ;}LEI Trﬁ" I“““Tl‘ WY Fee ¢ s yenrs 7
o ¥ recently, ruled for how many year
(A) 60 +h by

“~ 70 TR S e von, A ey el ww g P 7
) ! (1) 65
() 55
Choose the aliem

Mive wiy: F ‘
ligure. Whig)y Closely resembles the water image of the given guestior
ww faFm = gim o i
Question Figure / yyy _ﬁ T uyy HEa & we piyfre ® fereren TN &

f f o
Answer Figures / gm WrFf

A .
(A) p@:’h (B) E‘;Jj:
6% bl
N
[¥] h
© | ™ | D

‘Petuaghat® is developed as a lishing harbour, 1t is situated in —
(A) West Bengal (B) Tamil Nadu

(C) Kerala (D) Andaman & Nicobar
WA’ W Memrst & ¥ O frshm Fm oo b  ue Raa ¥ -

(A) wﬂﬂﬂrm W (B) aftreeg o i
(C) &Tw (D) awewr 7 P A
Consider the following statements :

(1) The First Woman President of Indian National Congress was Annie Be

(2) The First Muslim President of Indian National Congress was Badruddin T
Which of the above statemen(s) is/are correct ?

(A) Only (2) (B) Both (1) and (2)
(C) Neither (1) Nor (2) (D) Only (1)
Frefefea o1 ot faam =% -

(1) wredm TS w vy whe SEn TR @
(2) vl T W & wow gfiem e TEER S o |

0@ o ¥ v wu/HuAl W g S |
(A) F=7 (2) (B (1) ) &
(©) (1) a7 8 (2) O ¥ () B

27
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124 Nunltey W e currency ol -

(1) Mynnmar
(AY Kusakhatun Soutl '
) Wtan (13) South Koreg
WL BT

13) ey o)
ff'l.]‘ L i f "
(') .I.-T.,M::” 'ﬁ (1) wfter adfrer oy 3

125 Wy ereentape of total volime of internntionnl tryqfy of India js (ry

WA sterdledp e ) o mr fvern afvar <p e % P
(A) &0 (M) us
(<) ns (D) oy

126 1, e mitway beldge in Indin iy buij; on which
(A) Chenah

river ?

() Satlyj
(C) dhelum (D) Rayi
N my m}ﬂ,mimégﬂmrﬂﬂwwt P
(A) v (B) Laive
(C) siwn (D) '(;-iﬁ
127 Indlin'y Inegeyt Rubber dum is buill on river -
t[(-j‘-)] Son M) Direaw:
Gandok Bawali

5 gt
rj«r:ﬁ TR oy g g, e
ks - !

(C) vy (1)
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b Who was gy I

A) A Pesii)e '
lc..,. \lhln 1Ky nm :“I “E e Socinlisg Party 7 %
{ chang, Nirer, | 1 (1) Jay Prakash Nurayan
EFI! m;'l‘h'!- Y ,_\ '|-l'l I'l-.,_-,L “.n .,“\““" h.ﬂlhl““"'i ":Ill"ll.‘-“l!-ll
{.:l: MT=EITd T‘-‘_“_,ﬁ "TI Wirpm 'rﬁ—‘ ) ?
( WO T Ay (14) s ST

(1)) el wEAT e

- Pick om the o

TH WHA = F-'; ;‘x' h mogt appropriately complete this series,
Question Figures ! wig “'?":'Flf[ Wt aftm v @ weh ¥

ST

Answer Figures / a7 T '

| —

(A) | ® :‘:E

© =I|] (D) EU m

—

' What is the writing direction of Saindhava Seript ?

(A) Left 1o Right (B) Vertical Line
(C) Horizomal Line (D) Right to Left
fem A A dET R EA @ % 7
(A) T § M6 (B) = @
(C) &= Tan - (D) =R F 7
Given that
(I) A is brother of B. (I C is father of A.
() D is brother of L. (IV) B is mother of E.
AT -
(M A Bw Wkl (I C, A = frw ¥
(1) D, E & 91§ ¥ | (IV) BLE® i ¥ "
then Maternal Grand/lather of D is :- %
aa D& A e - ﬂ:_ g
(A) A ™ gi (B) B
(C) E -t (D) C
2] & 29 _ [
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“Ihﬂﬂlﬁtl-ﬂﬂl ‘DHBI
l‘l

y prppmmed AR AN
R

Lo ey
i

b with (n ¢ hinn
il cgstom
1w IInlqu I.l: !I'HL m S
(AY Nl Ban r.
i ||u|1pl.'l+||.‘-|'i. » = P
ipere [Hate nAb m
(A oirlint 1

() whimdel l gtablish the same relationst

g e way, Ii / _ Einio
npurt B8 iven alternatives lor g,

1M et and €89 P nihl-lu:-ll !-:..'1 aption [rom Ih:l.:?ﬂﬂ'l (d) & 0 (d) & o

() ond {u;l rl}m;.-u'll:l; 3 ﬂﬂll'-"li‘l' N T I

fayar wwat S {nk el |

i 8 wd) Preer TR ::‘: yrr “:__' AP

Question Fignres

fc)
M s
Figures / 397 sgfert

Answer

” , ®) | &=

(D)

(©)

135 Ifa<b d>cand @ < d, then which of the following must be true ?

(I b<c (M c=a _
(A) Only (1) (13) Neither (1) nor (11)
(C) DBoth (1) and (II) (D) Only (1)
A a<h d>coita<d A dan oA sy d ol ¥ 7
qs b ) bh<e (1) c>a
a <4 (A) ¥ (1) @) = & (1) =1 & ()
A7E (© st () 2 (D) ¥aw ()

136 Pick out the odd one from the following :

Fer F § R & eifey o
(A) "PID (B) XVA
(C) MGE (D) VNG

Ij.*:_‘l-r Sy

137 “Part™ is related lo “Whole™, in the same way as “Arc” is related 1o
(A) Circle (B) Triangle
(C) Square : (D) Trapezium
Firey e o™ o e oqel @ & T W A e ¥ -
(A) ga @ (B) Brmw
(C) afd (D) s ¥

mMz2] @ 28
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e e Wvining
LAY Nk e Songmm Llerature was known as -

WY N Iy Palayan

“.1“ “'1““‘1 ﬂ I”I““h |||'il ltil "I-'Eul'l.l'
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